Roll No. 245127453

Regn. No. 24-DEO-2801

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : OMKAR NATH NANDI

Father's Name : LATE BIRENDRA NATH NANDI

Mother's Name : BITHIKA NANDI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 27	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	57 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	46 25	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	57 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	51 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0398		0500			20.0	176.0
	GRAND TOTAL	0398		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Salan

Roll No. 245127455

24-DEO-2802 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : MADHUSUDAN MAJUMDER

: DINALAL MAJUMDER Father's Name

: KIRANBALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	37 15	40AG	100	В	6	04.0	24.0
2	MAMC-102 WRITING SKILLS	41 19	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	41 21	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	38 22	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	28 19	40AG	100	С	5	04.0	20.0
	TOTAL	0281		0500			20.0	128.0
	GRAND TOTAL	0281		0500			20.0	128.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.40

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127471

24-DEO-2804 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : TEEJIKA

: JAGVIR SINGH Father's Name

: SAVITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	59 21	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	58 24	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	59 22	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	56 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	57 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0407		0500			20.0	180.0
	GRAND TOTAL	0407		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127479

Regn. No. 24-DEO-2805

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : ROHINI DALMIA
Father's Name : RAM GOPAL DALMIA

Mother's Name : LATE MRS URMILA DALMIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	46 10	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	52 11	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	48 10	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	51 22	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	48 21	40AG	100	А	8	04.0	32.0
	TOTAL	0319		0500			20.0	148.0
	GRAND TOTAL	0319		0500			20.0	148.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banan

CONTROLLER OF EXAMINATIONS

Roll No. 245127490

Regn. No. 24-DEO-2806

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : POOJA BAI
Father's Name : CHHAJU RAM
Mother's Name : SAROJ DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	58 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	60 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	45 25	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	53 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	61 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0401		0500			20.0	180.0
	GRAND TOTAL	0401		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245127506

Regn. No. 24-DEO-2808

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : SHIKHA SINGLA Father's Name : SAJAN KUMAR SINGLA

Mother's Name : SANTOSH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	64 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	60 25	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 23	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	60 27	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	51 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0419		0500			20.0	192.0
	GRAND TOTAL	0419		0500			20.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.60

•		(Clerk)	_	(Assistant)
Checked by	1.		2	
KURUKSHET	ERA			
DATED:	JUN 26,2025			



Roll No. 245127507

24-DEO-2809 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : ESTHER OLIVE

: PRADEEP KUMAR NAYAK Father's Name

: BASANTI NAYAK Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	65 28	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	64 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 26	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	62 27	40AG	100	0	10	04.0	40.0
	TOTAL	0435		0500			20.0	192.0
	GRAND TOTAL	0435		0500			20.0	192.0

PASSED AND HAS OBTAINED: SGPA 9.60 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 245127510

24-DEO-2811

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

RESULT-cum-DETAILED MARKS CARD

Name : AKSHIT
Father's Name : ARUN PURI
Mother's Name : RANI PURI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 22	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	46 20	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	33 14	40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	40 18	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	42 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0302		0500			20.0	140.0
	GRAND TOTAL	0302		0500			20.0	140.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127511

Regn. No. 24-DEO-2812

$\label{eq:result-cum-detailed marks} \mbox{ CARD} \\ \mbox{MASTER OF ART SEMESTER-01 EXAM}: \mbox{ MAR- 2025} \\$

(MASS COMMUNICATION-CBCS-CDOE)

Name : VAANI PAYAL
Father's Name : NARESH PAYAL
Mother's Name : NEELAM PAYAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	60 26	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	61 27	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 26	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	53 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	55 13	40AG	100	А	8	04.0	32.0
	TOTAL	0403		0500			20.0	184.0
	GRAND TOTAL	0403		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245127512

Regn. No. 24-DEO-2813

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : UMESH KUMAR DHYANI
Father's Name : MOHAN CHANDRA DHYANI

Mother's Name : DEVAKI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	64 25		40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	47 25		40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	55 25		40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 26		40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	56 25		40AG	100	A+	9	04.0	36.0
	TOTAL	0	406		0500			20.0	180.0
	GRAND TOTAL	0	406		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127516

Regn. No. 24-DEO-2814

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : SHELJA
Father's Name : NAFE SINGH
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	54 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	54 25	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	55 23	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 27	40AG	100	О	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	52 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0401		0500			20.0	184.0
	GRAND TOTAL	0401		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245127518

Regn. No. 24-DEO-2815

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : POONAM THAKUR
Father's Name : KASHMIR SINGH
Mother's Name : SURESHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	12	10	F	40AG	100	F	0	04.0	0
2	MAMC-102 WRITING SKILLS	20	15	F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	08	8	F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	23	10	F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	19	9	F	40AG	100	F	0	04.0	0
	TOTAL		***	**		0500			20.0	0.000
									20.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

		(Clerk)		(Assistant)
Checked by	1		2.	
KURUKSHET	ERA			
DATED:	JUN 26,2025	i		



Roll No. 245127520

Regn. No.

24-DEO-2816

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

RESULT-cum-DETAILED MARKS CARD

Name : ANNANYA
Father's Name : SOMNATH
Mother's Name : RESHMI RANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	61 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	64 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	57 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	57 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0425		0500			20.0	188.0
	GRAND TOTAL	0425		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127530

Regn. No. 24-DEO-2817

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : SUSHIL GHASIRAM PRAJAPATI

Father's Name : GHASIRAM Mother's Name : ANJUDEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	51 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	48 26	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	40 14	40AG	100	В	6	04.0	24.0
4	MAMC-104 MEDIA & SOCIETY	58 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	60 25	40AG	100	0	10	04.0	40.0
	TOTAL	0372		0500			20.0	168.0
	GRAND TOTAL	0372		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			_ 2	
		(CI	lerk)		(Assistant)



Roll No. 245127535

Regn. No. 24-DEO-2818

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : YAJVI GULLAH
Father's Name : HARSH GULLAH
Mother's Name : MEENU GULLAH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	63 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	64 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 27	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	60 27	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	59 29	40AG	100	0	10	04.0	40.0
	TOTAL	0435		0500			20.0	196.0
	GRAND TOTAL	0435		0500			20.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.80

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			



Roll No. 245127541

Regn. No. 24-DEO-2819

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : SWATI
Father's Name : DEVENDER
Mother's Name : SHEELA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 16	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	49 17	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 18	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	53 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0354		0500			20.0	164.0
	GRAND TOTAL	0354		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245127542

Regn. No. 24-DEO-2820

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : KIRAN KUMAR BEHERA
Father's Name : RAJENDR KUMAR BEHERA
Mother's Name : LATE PADMINI BEHERA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	65 21	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	55 21	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	58 20	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	55 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	63 14	40AG	100	A+	9	04.0	36.0
	TOTAL	0396	5	0500			20.0	184.0
	GRAND TOTAL	0396	5	0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			_ 2	
		(CI	lerk)		(Assistant)



Roll No. 245127546

Regn. No. 24-DEO-2821

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : SHREYA CHANDRA
Father's Name : DINESH CHANDRA
Mother's Name : LAXMI CHANDRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55 20	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	50 25	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	48 20	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	56 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	54 20	40AG	100	A	8	04.0	32.0
	TOTAL	0372		0500			20.0	172.0
	GRAND TOTAL	0372		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

Checked by	1	(Clerk)	2.	(Assistant)	
			2.		
KURUKSHET	ERA				
DATED:	JUN 26,20)25			



Roll No. 245127559

Regn. No. 24-DEO-2822

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : SHIVAM YADAV
Father's Name : HEERALAL YADAV
Mother's Name : DEVANTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	65 23	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	61 24	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	54 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	63 26	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	62 24	40AG	100	О	10	04.0	40.0
	TOTAL	0426		0500			20.0	196.0
	GRAND TOTAL	0426		0500			20.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.80

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245127560

Regn. No. 24-DEO-2823

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : ADITYA SHARMA
Father's Name : KRISHAN KUMAR
Mother's Name : ARUNA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55 20	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	43 27	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	39 22	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	51 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	48 21	40AG	100	А	8	04.0	32.0
	TOTAL	0350		0500			20.0	164.0
	GRAND TOTAL	0350		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127561

Regn. No. 24-DEO-2824

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : SIDDARTH JAIN
Father's Name : PANKAJ JAIN
Mother's Name : PRATIBHA JAIN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	60 26	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	56 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 22	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	54 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0400		0500			20.0	180.0
	GRAND TOTAL	0400		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1.		2						
		(Clerk)		(Assistant)					



Roll No. 245127562

Regn. No. 24-DEO-2825

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : HARPREET KAUR
Father's Name : RAMESHWAR SINGH
Mother's Name : KARAMJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	40	18		40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	41	18		40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	39	17		40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	47	21		40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	20	9	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0500			20.0	116.0
									20.0	116.0

RESULT: RE - TILL MAR- 2027 IN: MAMC-105

DATED:	JUN 26,2	025								
KURUKSHETERA										
Checked by	1			2.						
		(Cl	erk)		(Assistant)					



Roll No. 245127569

Regn. No. 24-DEO-2826

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : LISHA LAZAR MELAPURATH

Father's Name : MELAPURATH Mother's Name : THRESIAMMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 20	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	36 8	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	38 8	40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	47 12	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	50 10	40AG	100	B+	7	04.0	28.0
	TOTAL	0277		0500			20.0	128.0
	GRAND TOTAL	0277		0500			20.0	128.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.40

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127572

Regn. No. 24-DEO-2827

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : PREETI JHA
Father's Name : SHIV KUMAR JHA
Mother's Name : ANCHALA JHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	63 26	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	67 27	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	49 25	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	57 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	64 24	40AG	100	0	10	04.0	40.0
	TOTAL	0425		0500			20.0	188.0
	GRAND TOTAL	0425		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

DATED:	JUN 26,2	025							
KURUKSHETERA									
Checked by	1.		2.						
		(Cler	k)	(Assistant)					



Roll No. 245127579

Regn. No. 24-DEO-2828

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : PALLAVI DEVI
Father's Name : RAM AVTAR
Mother's Name : MANORAMA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	51 21	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	52 23	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	47 22	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	53 16	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	58 17	40AG	100	A+	9	04.0	36.0
	TOTAL	0360		0500			20.0	168.0
	GRAND TOTAL	0360		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

		(Clerk)		(Assistant)
Checked by	1		_ 2	
KURUKSHET	ERA			
DATED :	JUN 26,2025			



Roll No. 245127583

Regn. No. 24-DEO-2829

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : MEENAKSHI
Father's Name : SURESH KUMAR
Mother's Name : RAKESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	54 18	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	56 21	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 22	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	59 23	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0386		0500			20.0	172.0
	GRAND TOTAL	0386		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Clerk)		(Assistant)	
Checked by	1		2		_
KURUKSHET	ERA				
DATED:	JUN 26,202	5			



Roll No. 245127585

24-DEO-2830 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : ANU SINGH

: VINOD KUMAR SINGH Father's Name

: ANITA SINGH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	41	18		40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	00	AB	F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	38	17		40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	45	20		40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	35	15		40AG	100	В	6	04.0	24.0
	TOTAL		**	*		0500			20.0	112.0
									20.0	112.0

RE - TILL MAR- 2027 IN: MAMC-102 RESULT:

DATED:	JUN 26,2025
KURUKSHET	ERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127587

Regn. No. 24-DEO-2831

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : POOJA

Father's Name : PARTAP SINGH Mother's Name : SUNITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	AB	AB	F	40AG	100	F	0	04.0	0
2	MAMC-102 WRITING SKILLS	AB	AB	F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	00	AB	F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	AB	AB	F	40AG	100	F	0	04.0	0
5	MAMC-105 COMPUTER APPLICATIONS	39	17		40AG	100	B+	7	04.0	28.0
	TOTAL		**	**		0500			20.0	028.0
									8.0	28.0

RESULT: RE - TILL MAR- 2027 IN: MAMC-101 MAMC-102 MAMC-103 MAMC-104

		(Clerk)	((Assistant)	
Checked by	1		2.			
KURUKSHET	ERA					
DATED:	JUN 26,20)25				



Roll No. 245127588

24-DEO-2832 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : CHESHTA BAKSHI

: SURINDER MOHAN BAKSHI Father's Name

: SUDESHA BAKSHI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Cicaic	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	49 23	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	53 23	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	41 21	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	53 22	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	42 23	40AG	100	A	8	04.0	32.0
	TOTAL	0350		0500			20.0	164.0
	GRAND TOTAL	0350		0500			20.0	164.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.20

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127591

Regn. No. 24-DEO-2833

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : ABHISHEKA BAYEE
Father's Name : AJAY KUMAR BAYEE
Mother's Name : PREMALATA BAYEE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	21	9	F	40AG	100	F	0	04.0	0
2	MAMC-102 WRITING SKILLS	20	9	F	40AG	100	F	0	04.0	0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	30	13		40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	28	12	*	40AG	100	Р	4	04.0	16.0
5	MAMC-105 COMPUTER APPLICATIONS	35	15		40AG	100	В	6	04.0	24.0
	TOTAL		k	<**		0500			20.0	060.0
									20.0	60.0

RESULT: RE - TILL MAR- 2027 IN: MAMC-101 MAMC-102

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 245127602

24-DEO-2834

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : PARVATHY PILLAI Father's Name : TS BABU PILLAI : LUCY PILLAI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	58 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	53 27	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	64 21	40AG	100	0	10	04.0	40.0
4	MAMC-104 MEDIA & SOCIETY	61 28	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	60 27	40AG	100	0	10	04.0	40.0
	TOTAL	0426		0500			20.0	196.0
	GRAND TOTAL	0426		0500			20.0	196.0

PASSED AND HAS OBTAINED: SGPA 9.80 RESULT:

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245127606

24-DEO-2835 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : RAVINDER KUMAR RAINA

: JAGAR NATH RAINA Father's Name

: SOOMA WATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	32 17	40AG	100	С	5	04.0	20.0
2	MAMC-102 WRITING SKILLS	44 21	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	34 13	40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	47 24	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	23 17	40AG	100	Р	4	04.0	16.0
	TOTAL	0272		0500			20.0	120.0
	GRAND TOTAL	0272		0500			20.0	120.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.00

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127612

Regn. No. 24-DEO-2836

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : HIMANSHU PRASAD
Father's Name : RAM YATAN YADAV
Mother's Name : VISHEKHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 16	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	54 19	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	50 18	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	30 26	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	56 13	40AG	100	A	8	04.0	32.0
	TOTAL	0338		0500			20.0	156.0
	GRAND TOTAL	0338		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			_ 2	
		(CI	lerk)		(Assistant)



Roll No. 245127625

Regn. No. 24-DEO-2837

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : BHAVESH KAPOOR
Father's Name : RAJESH KAPOOR
Mother's Name : MONIKA KAPOOR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	38	22		40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	37	20		40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	15	18	F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	29	20		40AG	100	С	5	04.0	20.0
5	MAMC-105 COMPUTER APPLICATIONS	25	15		40AG	100	Р	4	04.0	16.0
	TOTAL		**:	k		0500			20.0	092.0
									20.0	92.0

RESULT: RE - TILL MAR- 2027 IN: MAMC-103

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

Roll No. 245127628

Regn. No. 24-DEO-2838

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANU BANSAL
Father's Name : NARINDER BANSAL
Mother's Name : MANJU BANSAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	61 30	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	57 28	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	45 21	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	51 27	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	54 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0403		0500			20.0	184.0
	GRAND TOTAL	0403		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245127645

24-DEO-2840 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : AVIYUKTA ADLAKHA

: KUNDAN KUMAR PRIYADARSHI Father's Name

: KAJAL ADLAKHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	59 23	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	56 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 21	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	58 17	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0392		0500			20.0	176.0
	GRAND TOTAL	0392		0500			20.0	176.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.80

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127646

Regn. No. 24-DEO-2841

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : MAJOR CHOUDHARY

Father's Name : DHARAMBIR Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	53 16	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	52 21	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	52 21	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	55 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	60 17	40AG	100	A+	9	04.0	36.0
	TOTAL	0371		0500			20.0	168.0
	GRAND TOTAL	0371		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127661

Regn. No. 24-DEO-2842

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : UPASANA BHARGAVA
Father's Name : ASHOK BHARGAVA
Mother's Name : SANYOKTA BHARGAVA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	57 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	55 24	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	54 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	61 27	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0410		0500			20.0	184.0
	GRAND TOTAL	0410		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245127680

24-DEO-2843 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : RACHNA SHARMA

: VIRENDRA KUMAR SHARMA Father's Name

: KAMLESH SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	43 17	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	51 19	40AG	100	А	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	33 17	40AG	100	В	6	04.0	24.0
4	MAMC-104 MEDIA & SOCIETY	40 21	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	42 13	40AG	100	B+	7	04.0	28.0
	TOTAL	0296		0500			20.0	140.0
	GRAND TOTAL	0296		0500			20.0	140.0

PASSED AND HAS OBTAINED: RESULT: SGPA 7.00

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 245127686

24-DEO-2844

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : DHRUV DAYAL
Father's Name : RAJKUMAR DAYAL
Mother's Name : SHASHI BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	60 27	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	64 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	51 25	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	58 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	59 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0419		0500			20.0	188.0
	GRAND TOTAL	0419		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127688

Regn. No. 24-DEO-2845

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : ANU VERMA
Father's Name : ASHWANI KUMAR

Mother's Name : ANITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55 15	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	20 26	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 22	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	56 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	63 17	40AG	100	A+	9	04.0	36.0
	TOTAL	0353		0500			20.0	160.0
	GRAND TOTAL	0353		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245127705

24-DEO-2846 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : KOMAL DAS

: RATAN KUMAR DAS Father's Name

: BABY DAS Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	43	20	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	44	17	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	52	9	40AG	100	B+	7	04.0	28.0
4	MAMC-104 MEDIA & SOCIETY	56	12	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	55	7	40AG	100	B+	7	04.0	28.0
	TOTAL		0315		0500			20.0	144.0
	GRAND TOTAL		0315		0500			20.0	144.0

PASSED AND HAS OBTAINED: RESULT: SGPA 7.20

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245127707

Regn. No. 24-DEO-2847

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : KUNDNANI RAHUL THAKUR DAS

Father's Name : THAKUR DAS Mother's Name : NEELAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	42 26	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	58 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	61 24	40AG	100	0	10	04.0	40.0
4	MAMC-104 MEDIA & SOCIETY	60 26	40AG	100	0	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	61 26	40AG	100	0	10	04.0	40.0
	TOTAL	0410		0500			20.0	188.0
	GRAND TOTAL	0410		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245127708

Regn. No. 24-DEO-2848

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : NEHA KUMARI
Father's Name : BIPEEN RAUT
Mother's Name : NILAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	59 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	57 26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	48 24	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	58 27	40AG	100	О	10	04.0	40.0
5	MAMC-105 COMPUTER APPLICATIONS	60 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0408	3	0500			20.0	180.0
	GRAND TOTAL	0408		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,202	25								
KURUKSHETERA										
Checked by	1		2							
		(Clerk)		(Assistant)						



Roll No. 245127711

Regn. No. 24-DEO-2849

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : CHESHTA
Father's Name : NAVNEET
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	49 25	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	47 24	40AG	100	A	8	04.0	32.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	55 22	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	50 23	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	59 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0379		0500			20.0	168.0
	GRAND TOTAL	0379		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	:5			



Roll No. 245127718

Regn. No. 24-DEO-2850

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : BHAVYA KAPOOR
Father's Name : PRADEEP KAPOOR
Mother's Name : VANDNA KAPOOR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	56 25	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	53 24	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	52 24	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	55 24	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	55 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0392		0500			20.0	180.0
	GRAND TOTAL	0392		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1.		2						
		(Clerk)		(Assistant)					



Roll No. 245127722

24-DEO-2851 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : SURABHI SHAH

: HEMANT KUMAR SHAH Father's Name

: RUBY SHAH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	64	25	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	57	26	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	54	13	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	57	25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	61	24	40AG	100	0	10	04.0	40.0
	TOTAL		0406		0500			20.0	184.0
	GRAND TOTAL		0406		0500			20.0	184.0

PASSED AND HAS OBTAINED: SGPA 9.20 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127729

Regn. No. 24-DEO-2852

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : RAVI PRAKASH
Father's Name : B K SINGH
Mother's Name : MINA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	53 18	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	57 25	40AG	100	A+	9	04.0	36.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	53 21	40AG	100	А	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	49 22	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	52 21	40AG	100	А	8	04.0	32.0
	TOTAL	0371		0500			20.0	164.0
	GRAND TOTAL	0371		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

		(Clerk)		(Assistant)							
Checked by	1		2								
KURUKSHETERA											
DATED:	JUN 26,20	25									



Roll No. 245127750

Regn. No. 24-DEO-2855

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : MOHAMMAD FAISAL ZARBI POYENDA

Father's Name : NULL Mother's Name : NULL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	48 16	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	34 10	40AG	100	С	5	04.0	20.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	42 7	40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	44 11	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	44 11	40AG	100	B+	7	04.0	28.0
	TOTAL	0267		0500			20.0	124.0
	GRAND TOTAL	0267		0500			20.0	124.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.20

DATED:	JUN 26,2025			
KURUKSHE	ΓERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245127761

Regn. No. 24-DEO-2857

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : ANAMIKA BHATNAGAR
Father's Name : DEEPAK BHATNAGAR
Mother's Name : KAMINI BHATNAGAR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ied	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	23	22		40AG	100	С	5	04.0	20.0
2	MAMC-102 WRITING SKILLS	36	16		40AG	100	В	6	04.0	24.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	21	9	F	40AG	100	F	0	04.0	0
4	MAMC-104 MEDIA & SOCIETY	29	11	*	40AG	100	Р	4	04.0	16.0
5	MAMC-105 COMPUTER APPLICATIONS	34	15		40AG	100	С	5	04.0	20.0
	TOTAL		**	k*		0500			20.0	080.0
									20.0	80.0

RESULT: RE - TILL MAR- 2027 IN: MAMC-103

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127776

Regn. No. 24-DEO-2858

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : DRISYA P
Father's Name : PRADEEPAN KC
Mother's Name : BINDU P

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	55 29	40AG	100	A+	9	04.0	36.0
2	MAMC-102 WRITING SKILLS	59 28	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	60 27	40AG	100	0	10	04.0	40.0
4	MAMC-104 MEDIA & SOCIETY	58 26	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	61 29	40AG	100	0	10	04.0	40.0
	TOTAL	0432		0500			20.0	192.0
	GRAND TOTAL	0432		0500			20.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.60

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245127780

Regn. No. 24-DEO-2860

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(MASS COMMUNICATION-CBCS-CDOE)

Name : PRINCE KUMAR
Father's Name : BEERENDRA SINGH

Mother's Name : RAKHI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	44 21	40AG	100	А	8	04.0	32.0
2	MAMC-102 WRITING SKILLS	44 16	40AG	100	B+	7	04.0	28.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	46 20	40AG	100	A	8	04.0	32.0
4	MAMC-104 MEDIA & SOCIETY	48 23	40AG	100	А	8	04.0	32.0
5	MAMC-105 COMPUTER APPLICATIONS	48 15	40AG	100	B+	7	04.0	28.0
	TOTAL	0325		0500			20.0	152.0
	GRAND TOTAL	0325		0500			20.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245127785

Regn. No. 24-DEO-2861

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

(......

Name : JATIN JATIN
Father's Name : DHARAM PAL
Mother's Name : KIRAN BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	64 24	40AG	100	0	10	04.0	40.0
2	MAMC-102 WRITING SKILLS	66 26	40AG	100	0	10	04.0	40.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	58 25	40AG	100	A+	9	04.0	36.0
4	MAMC-104 MEDIA & SOCIETY	53 25	40AG	100	A+	9	04.0	36.0
5	MAMC-105 COMPUTER APPLICATIONS	58 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0422		0500			20.0	188.0
	GRAND TOTAL	0422		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

,	_	(Cl	lerk)	_	(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245127788

Regn. No. 24-DEO-2862

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (MASS COMMUNICATION-CBCS-CDOE)

Name : MANDHIR SINGH
Father's Name : KIRAT SINGH GULERIA
Mother's Name : CHANCHAL GULERIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MAMC-101 THEORY AND PRACTICE OF COMMUNICATION	39 20	40AG	100	B+	7	04.0	28.0
2	MAMC-102 WRITING SKILLS	31 19	40AG	100	В	6	04.0	24.0
3	MAMC-103 INTRODUCTION TO MASS MEDIA	23 20	40AG	100	С	5	04.0	20.0
4	MAMC-104 MEDIA & SOCIETY	42 18	40AG	100	B+	7	04.0	28.0
5	MAMC-105 COMPUTER APPLICATIONS	25 15 *	40AG	100	P	4	04.0	16.0
	TOTAL	0252		0500			20.0	116.0
	GRAND TOTAL	0252		0500			20.0	116.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.80

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
		(0	Clerk)		(Assistant)

